LPS: 3/13

Guide to Assembly & Usage

AS-LPS-01

Louvre Panel Stations

Information
If in doubt, contact the supplier

»\ Read this guide thoroughly before
commencing assembly and retain for
future reference

Before commencing assembly,
unpack carefully & check that all
components ordered are included

Assembly should be undertaken by
two competent people

Tools - Phillips screwdriver,
two 13mm spanners

Caution
During assembly, ensure to:

Take care during assembly and in use,
particularly when lifting or stretching &
when using tools

Wear appropriate safety clothing —
protective gloves and footwear are
recommended

Build on a suitable level floor, which
is strong enough to support the load
and allow adequate working space

Dispose of packaging
materials responsibly

Warning
Rules for the safe use of stations:

Ensure these instructions are retained

PERNE@VYRVE®S

for reference & that users are aware of
the rules for safe use

Never climb on the structure or stand
on the station

Do not lean or support ladders, steps,
or other objects against station

Always use safety steps to reach
high shelves

Do not use in damp or wet conditions

Load heavy items on the lower levels
& lighter items on the higher levels

This product is designed for hand
loading only

Ensure that the maximum load
carrying capacities are not exceeded

Please refer to the loading information
supplied for details

OIOICIOISIET DI

Station Low Component Check List

Component Quantity
CIOssBrace e——————————— ®
Upright _ _ _ 2
T O e
Small Screw (M4) ‘ Ji 12
i

Medium Screw (M5) 6‘,,;5 26
Louvre Panel (per-side)

2

Station High Component Check List

Component Quantity
OrossBrace  —————
TPUMS oS ST Chessoemmpe
BoromUpright e O
Small Screw (M4) 4‘)% ‘ 18
Medium Screw (M5) = 38
Bolt (M8) ) 4
Louvre Panel (per-side)
3
Choose Appropriately Choose Appropriately
Component Quantity Component Quantity
Single Sided Foot Left Swivel Castor 1
1
2
Single Sided Foot Right
1
Braked Castor A
Double Sided Foot h 2
2

If you have any missing components please take note of the part name and code and contact your supplier

Louvre Panel Stations are safe when used responsibly. If in doubt, contact your supplier

‘ LPS_Louvre_Panel_Stations_Assembly.indd 1

(O]

23/04/2015 09:58



If building

a mobile
station
unscrew

all feet and
replace with
castors.
Fitting two
braked on

one foot
and two
swivel on
the other.

Insert each
foot into
an upright
lining up
the bolt
holes

Fix upright by inserting 2 bolts into
holes and securing in place with
13mm spanner

If building a “high”
unit, insert the
second upright
with the plastic cap
and temporary fix
together using a
medium screw

5 With someone to help you hold the
upright, starting at the bottom, fit one of
the cross braces to the upright and part
screw in the bolts

Secure the second cross brace to the

top of the two uprights

E Fit all remaining cross braces at every
bolt hole leaving room for louvre panels

to fit over the screws

Repeat step 5 to fit the bottom cross
brace to the second upright

@ N,

Starting from the bottom up, fit the
louvre panels over the upright screws

Tip: On single sided stations
the front should have the
longest foot facing forward

2 Note: lllustrations not to scale

LPS_Louvre_Panel_Stations_Assembly.indd 2

By adjusting the cross braces heights
from the rear, fit the small screws

through the centre of the panels into
the cross brace and tighten

On double sided stations with rear
panels repeat steps 9.-11. Finally
tighten all remaining screws

LPS: 3/13

23/04/2015 09:59



